MATH (010 TEST § RéView ety

QCV): ‘j(x,;.q)a_);,( TOFINVD JERTEXN wHEr) THE
\ FUNCTION (5 N STADARD FEM

ll ¥ FlwD wWHAT X vaLve ms kee

1 M e saARep Teet zeRO.

‘ ) i HERE, X=-H4 MAtces 3@4%)2 ZEAO,
AD Y= 15 AL THAT 15 LECT

EL"*Q_;H.‘
; solyertes (4.1)
Koy ,Tﬁé EQUATION OF THE Axis
i OF S ymm émi- J
m, 2%+ X D MAkes 2% zao,d
rs WHAT (SLEFT, SD
RTék s (O, 1)
= m(ts 3a s//thgﬂ?/ 's XfO
ly_
3. L= -(x-s) ¥ =G MAkes —(x-5) zero,
4§ OB wWYAT (5 LEFT. s
RER UERTex s (5,0)

| Axts ofF SyMMmeTRy Is Y=

X
S0
& |~




Y. Lon=5Y +10k ~C WEWLED To comprere THe
SQUARE TO whrRITE fy tn

O fuw) = S(Yi‘ﬁ?v )-6 STALDAR > FR M.
D coeEFIC/Ent of k7 Mo
"
Ugyj e;(x +ax+:) ~&.—50) PE 4, so wg F/ﬁcm;
T~ VT T me 5
x) = & (Kt 0 ;
S . @) VT, wrt ADD@) /
mﬁ/ﬂ TO e xrEems, 4 SATEAT
__ TO keep TYCLAUATION
wE CAN COMPLETC TH € BALAC €D,
§@uN2é > TATHIS CASE, e ABdED 2
Con= K-6x+2 13-1 ¢ SBTRATep  —5(1). THE
fay = (x-2)—6 S (s DUE 70 THE FACT THAT

— WE ADLED 4 (usipe A SCT
/30 uefﬁT'ek’" (> G;E’U OF PARANTH €s¢ 5 a;rrﬁ 5

OVTS(DE
OK - L

IRy 2)) );JV__A’LEJ_{-__OP U_GEZT(_X L f s if@,
N A XY= S

A QC ) ’l s

Lb Y VALUVE of UERTEX By € VALUATIA G-
Fowenonw @ X VAL CVE 5O

Y= £(3)= B —6(9435~

so|UeRTLX ¢ m




6 ARLA AS LARGEAS POss/BLL = THS (s A MAMN
PROBLEM, THAT 1S
= LW, A vtrTC ) oF PMABOLA.
A L Som of Ldw 5 7¢ ‘.}(O
A LRl PEEED

-

N .
A=l = (ZEuDw =7bw-w

S0 /AS - “Wp‘f"76w, TH (5 ¢¢ A PARAOLA Lif€ /\

MAK 15 AT y ERTENX.
HEETEN: =k = 228 = 3g
. 2 ()

| = 76-w= 76733 = >, so /38 H ey 3804

7. M FCIGHT = VERTEK of PAPABOLA.

) = hed) = ~168 76t

&5 NS
_)gc,hwh“ﬁﬂ'( f t;.:’__é_ = :.cj-é- = 3
MISTAKE (W REUVIEW. 2o 2(-18)
SERRY.

(3 ) = )3 +al3) = 144

O at 3 Sf’c@m‘s; @F Mak %ffgmﬁ /@




2.6

bs i

s

O 44 =Y R —t
= y{é & Vx){
TH1S DOTTED LiNveE 5 A HORIZOMTAL
A"S'L/MPRZ!T{, @ \/‘-"—C}r a 5‘13/{)1{:/{_;, THAT
THE CRApH wire NEvER. TOUCH HEE
A, 3("’_””);,'_ DG ET SAME BASE
1€
Y (543K -4
?ﬁgm‘"’;&': J = g e

Now, Howr DO Yoo JNDO AN CponlNTIAL BRASE 2 %
W A LOG,

) (543 =Y T I zxf-ﬂﬁ; k=3
2

% #/}}? - —5 et

}0, a0 Y W HEN yéA,R 1S }Odo_ SIALC € t =0 ¢§ !‘?CF')H,
_LL?E“ s F0O

003 5)
0y assqoo(27) = 29DIXAH5

—

>
D WERREST (090, 55 6000 papLl]




3 ExPore M TIAL BAse 3

CBré 3)
YO CAX ALSD Do TH 1S AY PATIEIA.

THE BASE sTAys TH € sAmé &
THE PEST Scorrch PLAces.

2,53 =infd) #[37 I, () o

I'%. JOC_% /7%5 THE QUESTION TO ASK 15 u‘:)c:zs(,'r 70 WHAT
) PowerR is "ARGUEMENT" DR (as TYr5 PROBLEA

A TOWHAT POel 15 4 2 TF yOIR BRAIN
tkMows, GREAT! HIS ANSWER 15 Eﬂ

I £ Yo BPAN DocsaT frow, HRL ARL 50mE STEES

/O%Hi) =X = ;_(gg}{-ijix - 4=y
o 1 x _ Neve, Lif & PRB
d=3" 5 =22 070 4y

;7 ’!951?&;; /mj i;rx = E = K



4. [l =Tod)
v

o \ 2 70 WHAT pPowkR 1S :.).._L? ?@
‘ [(}9 (2? - X
| ,J.. K g e

/6 /093)(;; 5 X/B E
3003

7. CRAPH \/:/09 'S Chels coe A/ée-o@/@bo 5 UpéPap
y r\L 20 A VLRTICAL ASymproTe.
o |lm,0 2vAex=0 O /Z =0

les, | =0 = ( ,0)

Li

L )G%LL 5 (L/rf)

. loyoo2(5,s7 1]

DR us & (AL AT

—_—

pﬂ“fﬁ 'n/‘a“{’ / *’)/Ofgro
ond In i /09&



20 Iy (4)- 108 o (% 5301q]

(A (%) (03(33

2. Uswe THE 2 FACS RRoM # 17, [u)=logk)-5
xY :
O /OSO =T UMPEFIMED co VAB X =0
| [1g()-5=0~52-5 so (1,-5)
10 /CHV(J)—g = /~6 =4 S0 (for““)

~7. DeTAMCE RBLTWE LN
(6("’/) d (L/('_€>

T .
/ - /)
s [{Lf—é) +C-5-
4 60) = Jh(-—;)“ %_q):?"’
\L{ 3 : = [ 4+/¢ —
3 ] O
A= 27H4 2 94620 3o =G
A= < Bl =2l5

23, MIDPINMT 15 SusT AvERAGL so MiDPOWT s Cheary,m\/j?
of (”ﬁ*’(s V. +**/-.-L> ol (-3/-6) (5,4
& ! = ' /

/

6o
MDPOMJY ?5 (——5-7‘2 “—gj _' __3 _Z f’zf’b)/
o > “A("r; ~ ' '{ )

Lo e




H 2 = -

M. AN -0 =16 CoR CEMILR OF A ClRl 1L

”ﬂ /' //V STANMDARD FoRrtA W AT
NZ3 yEl MAKC THese ){a / UALUEs A €

gﬁzéémea !5 (200 \ ‘

/(D:{J_,SO =14 = 4 %

25 Y +gx =0 LOMPLETE SQUARLS TO GET THS
CIRCLE /) STAMDARLD FRM

)(%‘%’??X-f-fe .-,l-\/?L =0 +§
CKf’!’/)l %YI: /é




3(. (EMTER q,-—% RrOIS |/
(x-9) +(y¥) =1l

or é(mf%yﬂf = Jaj

37 Xk -8y HI= 95 L LIkE PROBLEMSE 35
7 =17

-BKHe iray+l = 8 HE #
(x-4f +(yH) = 2%




